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Chapter of Mahabharala.
(A) Sixteenth (B) Seventeetn
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supreme Court of India in its recent
historical judgement on Aadhaar Card
Vs Privacy threal, it has been held that
linking Aadhaar Card mandatory, excepl
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3.
4, Corporate authentication
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A ladder 17 m long, reaches a window Ol
a bullding 15 m above the ground. What 13
the distance of the foot of the ladder from
the wall 7

(A) 8cm
(C) 2cm
Manganese is found Inthe
district of Haryana.
(A) Hissar

(B) Mahendragarh
[G_:' KAMSA
(D) Gurgaon
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for macro-economic constituents 7
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1. If the distance bétween (he Points A1.1)
and Bix, 1) is Sunits, then Values of are
(A) 4,0 (8)
c) 23 (DF 1, —¢

. A man when asked, NOW many heng and

buffaloes he has, told that his anjmayg have

120 eyes and 180 legs. How many hens he

has ?
(C) 30 (0) None of these

3. The solution of system of equations
X+y=a-bandax-by=a’+b2ap
(A) X=a,y=Db
(C) x==a,y=b

{E_:l :1:.1.}':—-{)
(L) Jf=-Et.yr-|‘}

4. Haryana government launched

_schamae for senior clitizens

r}é.‘gnglng to Below Poverty Line (BPL)

families.

(A) Bhagya Jyothi

(B} Anna Bhagya

(C) Beli Padhao

D) Tirtha Darshana

10 the British colonial admlnishnticrn, and
subsequently, some i the imporant hill
stations such as Dhnramshala. Mussooria
Shimla, Kausani and the Cantonme I
'owns and health Fesons !
Mussoorig, Kasaulj
and Ranikhe
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52, Hiuen Tsangisa _ travedler
(A) English (B) Roman
fCc) Chinesa (0)  Porluguese

53. — e is esaential for the
s}fnrhesm of th yToxin.
(A) Potassium

{C) - Calcium

(B} Sodium
(D) lodine

§4. Sahibi river is also called as
(A) Drishadwatli {B) Kumudwal
(C) Cauveri (D) Jagadadri

§5. Incomputers ‘CMOS’ stands for

(A) Computer monitaring operating
system

(B) Complementary Metal Oxide
Semiconduclor

(C) Complementary Metal Operating
Semiconductor

(D) Commonly maintaining Operating
System

56. Which of the following movements is known

as Leaderless Movement/Protest ¥
(A} Simon Go Back Protest

(B) Individual Sathyagraha

(C) Quit India Movement

(D) - Swadeshi Mmrament'}f&F
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wWhich of the following cells have
haemoglobin in it ?

{(A) White Blood Cells

{B) Red Blood Calls

(C) Platelets

(D) None of the above

44,

Fishes have number of chambers

In their heanr
(A) Many
(C) 2

The crops which are sown at the
commencemeant of rains in June and
harvested by November month,are
called as

(A) Baisakhi
(C) Kharif

Consider the following statements with

referenca to the evolution of political party

syslem in India and choose the incormec

option

(A) The fourth union general glection

led to the beginning of the politics ol

coalition.

During 1960s, the emergence of the

new political classes was directly

related to the rise of the proprietary

peasant class In rural India in the

backdrop of the land reforms.

(C) The politics of alllance has led to the
polarisation of parties

(D) Atpresent coalition or alllance form of
parties have narrowed the process
of elections and competitive political

space.
Find the word which Is different from the
other 3 options given below.
{A) Tiger (B) Lion
(C) Cat (D) Zebra

Age of a father is 3 times that of his son.
- years later, he will be two and half times as
0ld as his son. How old is his son now 7

(A) 15 years (B) 10 years

45.

By 4
(D) 3

46.

Biti
summer

(E)
(&)

47.

| (B)

48.

49,

(C) 12% years (D) None of these

Cat
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47.
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~.aa the correct oplions

==

. She reminded _ tha papers
(A} where | had to leave
(8) me wheare wlll | leave
(C) where lo leave
(D) me where | had to leave
50, |am not tired encugh to go to bed yet.

wouldn't-sleap I1 | to bed now
(A) had gone

(B) gone

(C) would have gone

(D) went
£ill in the blanks with appf opriate articles if

necessary .

=4, | don'twatch _ television very
plten.
(A) a
(B) the
(C) nol needed
(D) an
2o Whois__— Pestpiayss in your
team
(A) the
() an
(C) not needed
(D) a
Fill in the blanks with ap

73.  She lives in Perth. She owns a house
~__the gwan River.

e —

A) al
) on
C) -over

propriate prepositions

AZ0A8 (1) a1y

T
AL 1T ;
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A

Tl

oothall g

— e ——

(8} Besldag
N if FHLE

(C) Besida
(L) Except

Choosethe correst form o the AT

[4: 5 ol
I lelavision a ot bul L don't any 3
more.

(A) used to walch
(B} was walthing

(C) waltched 'lll,
(D) was used 1o walch .

76. ___along time for \ne bus

. E
(A) We must lo wait o
(B) Always we have 10 wail i

(C) We have o wail always

(B) We always have 10 wait

Select the appropriate Synonyms of the
underlined words !

77. The Article exculpated the mayor.
(A) steal

() pity

(C) acquit

(D) destroy

78. The carsalesman wried to beguiled an otler

of free gas for & year.
(A) wary
(B) mislead
(C) belittle
D) strange
: Q
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(c) _1 0) 22
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58, IF14x" 4+ 13x

15 |s divided by 7x = 4, than
remainder is

(&) 3 (B 3

(DY Mone ol these

58. Sepoy mutiny took place in
(A) 1847 (B) 1957
(C) 1837 (D) 1857
1 'Efr B60. Five resistors 20, 3102, 461, 501 and 6¢) af
connected in series lo 6V batlery '!"lu
current through 541 resistor is
(a) d.33 8 (B) 0.3 A
(C) TZ2A (D) 120 A
1. If 9" of Septemberwas Sunday, when (oes
18" September fall 7
(A) Monday (B) Sunday
(C) Tuesday (D) Wednesday
82. _ > is the head of Gram
Panchayath.
(A) Chief Minister  (B) Commissioner

(C) Sarpanch (D) Labour Officer

63. Haryanasends _  membersto
Rajya Sabha, the upper house of the

Parliament.
(A} 2 (B) 3
(C) (D) 5

64. i the perimeter of a semicircular
protractor is 108 cm, then the diameter of
the protractor is
(A) 54 cm (B) 42cm

—~ . (C) 24cm {DJ 108 cm
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59. founh e 7|
(A} 1947 (® 1957 27
(C) 1837 (0} 1857 5
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(A) 333 A (B) 0.3 A
(C) 124 (D} 120 A

61. a0 fadm s Foam 'k, & 10 e =
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(A) HIHEN By TFEm
(IR UGEL (D) =HaEm
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(C) B9

63. ®iEmm _

T, T=IE] St 2

(A) 2
(C) 4

64, TfETF reRTR = i afify 108 73 R,
a1 =i 1w 2

(A) 54 ®.H.
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